N ey v =l = ) = 0O __eE
2021 FE ;ARFRIETEAGR « HES H—8
20216 BREUBNESHNES
W)\ EREHE OLENFER KS
passEam A/ N— 1,760 IKXIBEER] 66 720
R—VEE 310 2AZVINY T F/B 950
2AIVTIFI 1,650
. - = PAOVEYTY 100
O LE/N\EW KR
e o Z[ 110 120 130 140 S M L LL g7 9rZ[ 110 120 130 140 S M L LL 3L
=B =XV 2530| 2530] 2640 2640 2750[ 2,750] 2,750] 2,900 [ERLESYOZ GiID 1,760] 1,760] 1,870] 1,870 1,980[ 1980] 1,980] 2090| 2090
ROV v 2530] 2530] 2640 2640 2750[ 2,750] 2750 2,900
g7 o7Z[ 110 120 130 140 S M L LL 3L
U= LL wL—FE L 2090 2090| 2200] 2200] 2310] 2310[ 2310] 2420[ 2420
[DiF=HIEE 550 610 BL—FE T 1540] 1540 1,650] 1,650 1,760] 1,760] 1,760] 1,870] 1,870
[EE= [ 2530] gF 9« X[ 110 120 130 140 S M L LL 3L
[ove—=3 2970 2970] 3080 3080] 3190 3190[ 3300] 3300[ 3410
ST I)\ER: (KRS e
AN
mwge v Z[ 110 120 130 140 S M L LL S IINFHL KE
D=8 —IX\IY 2420 2420| 2530 2530| 2640 2640 2640| 2800
FEH Y v 2420 2420 2530] 2530] 2640] 2640] 2640] 2800 g7 97Z[ 110 120 130 140 [ S (150 [M (160) [ L (170)
[FSyoz3 1,710 1,710] 1,760] 1,760] 1,820] 1,820] 1,870
U= LL
F=lE 500 560 g7 o7Z[ 110 120 130 140 [ S (150 [M (160) [ L (170)
[EEa 3080] 3080] 3190 3190] 3300] 3300[ 3410
rE= 2,530
I 180 IKXIBEER] 66 720
2AIVINYD /B 950
—— = 2AIVTIFI 1,650
OR=D KIR P1OVBvTY 100
TYvY 3,520
N=DJXY 3,800 -
Jv—ILk 8,130 ONR=P KE
DRIV 5610 [kxiszERl 38 [ 605|
BE/N\Nv D Atype 9,900
EZ/\v 2 Btype 8,800 87 g7 X[ S~LL 3L
TN 4,300 [FSyoz29+4T 1,705 2,090
REES 4,300
LES 3800 [EFIR—5= [ 770]
gF Y1 X[ S~L LL.3L
GFE/I\U—FE E 2,310[ 2,420
FEIU—FE T 1,760 1,870
4F 1 X[ S~3L
[ZF0vEe—= 2,750
gFV3a—Y 715
e _ PaN N oy
KERMNMOBIEIETHHAHTI, LT F 550




	PDF

